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L. f()=2x= f(x+M=(A) x+h @) 2x+h (C) 2x (D) 2x+2h

2. lzo:i=(A) 55 (B) 11 (C) 110 (D) 550

3. 1+%+%+%+--- =(A) V10 (B)2 (C)4 (D) «

4. f)=x" =L N@=rfEN=@A) ¥ B)1 ) x* O »*
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5. (5) (A) 5 B)2 ©4 @) A

6 lmd+D=&) -1 ® 0 ©1 ® 3
7. THHTHEEE? (A) cos0=0 (B) cosn=—1 (C) sin(Zn)=1 (D) sin(3n)=-1
8. THUTHERE? (A) log,8=3 (B) log,8=-3 (C) log,8=3 (D) 10g13=§ _
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i -1
x—1 x+1 —1 =1 x* =1

10. x<—;—:> (A) Px-1=2x-1 (B) px-1=-2x+1  (C) [2x-1=-2x-1
(D) [2x-1=0

1. FHHTESEHEE? A) 7 B) V2 (C) 0.123456789101112--- (D) %
12. cos(26)=(A) 1-cos’6 (B) sin’0 (C) 2cos’0-1 (D) 2sin’0-+1

13. v=i-], =vev=(4) i-] ®) -1 (O i+] D)2

L0 _ L Jro 0 -0 -1 o
14. If A=[0 1],1‘.henzé1*‘~(A) {0 J ()[0 _1] © {0 —J ® {0 l]'

15, HEAX+x+1=0 (A) BE—HR @) HEZER O BWE=ER (D) FKHR
16. EHHEE f(x)=x",x € RTERIE? (A) a<b=> fla)<fB) B
azb= f(a)# f(b) (C) a>b= f(a)>f() (D) f(x)=0 HH=HR
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17. lim*_ L
x—1 x_l
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18. SEIE_EE A0,2007) » B(1,2009) ZEMFRE (A1 B)2 (C) -2 D) -é—
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%a%%%zmﬁmﬁ%ﬁ{”y:z IEBAE - B (A) a=2 (B) a=-2 (O
ax+2y=2

a=1 (D) a=-1

GIRIT " + 7 =4 REE02) LEHRER )7 ® 2 © 0 @ =

BRS:x? 4y + 22 =8 ZAEE (A2 (B)3 (C) 242 (D)1

Bty =0 ZBEBWL ®) -1 © 2 O -2,
(x+1°=(A) F¥*+x"+x+1 (B) £ +2x*+2x+1 (C) £ +3x"+3x+1 (D) x* +1
X = +ax+b DA + 227 +x— 1880, F(x) X’ +x° —x+1880. 3K
a+b=(A)0 B)1 (C)-1 (D)-2
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